Unit J (limits) Review
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For numbers 1 — 4, use the graph shown to determine if the limit exist. If it does, find its value.
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Use the following graph for numbers 5 — 10,
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6. Find: lim f(x)
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9. Find: lim f° (x)
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For numbers 11 — 28, find each limit algebraically.
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For numbers 29 — 30, a piecewise function is given. Use properties of limits to find the indicated limit, or state that the limit does not
exist.
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For numbers 31 — 32, find the slope of the tangent line to the graph of f"at the given point using the difference quotient.

f’(x)=},iggf(x+h,2_f(x)
31 Alx)=3x+ 5 at (1, 8) 32, flx) =x2 = 2x + 3 at (-1, 6)
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For numbers 33 —34, find the equation for the slope of the function at any point using the difference quotient
Vi (x + h) -f (x]

f’(x) =lim
sl h . Then use your answer to find the slope of the tangent line at x = 4.
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For numbers 45 — 60, use the theorems to find f'(x). Express answers without using fractional or negative exponents.
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44, f(x)=3x3—2 X 4 —
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